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(b)

(2)

Choose the correct answer :

% Taqeol IR Sferedl :

A cause of inflation is

qm‘ﬁﬁ FR i’a
(i)

(W)




(3)

() What does a vertical IS curve mean?
qoe T IS @R PR
Wiie -[ 3 Entti_m | . '..

Choose the correct answer :
y o » .‘f"' j».. A ; S




( &)

Write Yes or No :

77 1w foran

According to Fisher— The mcr ‘
money supply always |
proportional 1ncrease n}u

level”.

f-ﬂmwc—




(5)

Answer the following questions :

* mp

2.




(6)

3. Answer the following questions : 5x4=20

(a) Show how IS curve will change as a
result of increase 1in Government

Expenditure.
IR AW I For 1S @R @A ARE
T, (Y& |

Or / TF

Explain the factors that determine the
slope of the IS curve. ’

IS (@[ Ol el F91 FRPHR A0 41 |

(b) Explain briefly the different phases of
business cycle.

ey e fAfon IR LT AT ¥4 |
Or/ w931

Explain briefly the features of business
cycles.

ey 54 (IFBICTR BYF I 0 |

(c) Will a doubling of money supply always
lead to a doubling of general price level?
Explain.

TR Q@R fRged ey sme MR & 3N
faeer 3f wOmic 2 qe <y |
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(8)

(d) Explain critically the cash balance
approach to quantity theory of money.

TER TW (G OGRS I
0

(e) Explain the impact of inflation on
production and distribution.

T WE {9 @RS JErRIGT  AOK
I |

() What is cost-push inflation? How can it
be controlled?
TIEHe @RS IR @A ? TR @ER
g k7 1R 2

(g9 What are the assumptions of Hicks
multiplier accelerator interaction theory
of business cycle? How did he explained
the upswing of business cycle with it?

359 (Hicks) J9® v@e 39F w39, Risw
OEbR SfSHRPTR [ 2 7 (Hicks) @
Wwaﬁwmﬁeﬁwmw
771 JfRfRe ?

(h) “Change in the flow of money is the sole
and sufficient cause of changes in
economic activity.” Explain.

““qul 2ared ARG SRS BN Prer RS
G SF ST FRA 1 70 I
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(2)

(c) Name the first economist who attempteq
to provide a systematic definition of
perfect competition.




(3)

(h) What do you mean by Pareto’s
optimality?

(IO SIS T 41l e <6 31 2
() What is project evaluation?
2 e e 2

() Who advocated the interpersonal
comparison of utility concept?

e Tw© TARIISR G HIEIICHT (I
HIRGIRRe ?
2. Answer the following questions : 2x5=10
o SPPTYRS Ted o1

(a) Write the differences between selling cost
and production cost.

RE [ HFE TeA [ TES
ANLFPR fora |

(b) Differentiate between personal distri-
bution and functional distribution.

e [Regq wie fEmee 1 SRSl Kot
e #1¢< [{oR 4 |

(c) State the main limitations of Pareto’s
criteria for welfare economics.

CACACBR e ST qRAER o1 Mol
TEY 391 |
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(d) Write the two conditions of equ111b. um
in a perfectly competitive 1ndus;1;y ;

°ffzrflmﬁmrsqﬁmﬁﬁ
fora |







(b)

(c)

A9/859

(6)

Or / 941

Why are monopoly price and profit
higher but output is lower than in perfect
competition? Discuss.

SICOHA THRS TR 7 W A+ S
IGEOT TH 2y [F7 TAmeR ofswa [y Ay
REAGITiE W

Explain the nature of supply curves of an

industry under increasing and decreasing
cost conditions.

TN W PRI T S @B SN
cm‘fﬂa@wwﬁﬂmnwl

Or / 5211

Determine the equilibrium condition of

a firm under monopolistic competition
in the long run.

PP ARAPTS ToR Refrere qum
YT ST ST fAefy 5 |

Critically  discuss the marginal
productivity theory of distribution.
ReR e Sesmamerer SR SISy
IR S9RCERT |

Or / 5237

State and explain the Ricardian theory of
rent. What are its drawbacks?

WWWMWWW
W%%? SR

10

10

10
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(7))

(d) Discuss in brief the contributions of
Kaldor and Hicks to the field of welfare

economics. 5+5=10
I SO oFqe FeIoR WE R
S YL S 4 |

Or / 541

The expected life of a project Xis 5 years
and it earns profit ‘¥10,000 after
deducting depreciation, taxes and
interest. Another project Y earns profit of
18,000 in its expected life of 6 years

after deducting depreciation, taxes and
interest.

The net investment on the two projects
X and Y are ¥25,000 and ¥36,000
respectively. If the required rate of return
is 12-5%, which of the two projects will
be selected? 10
Gl 2FF X A9e IR 5 "I W R
SFCA 4R T S, T SF PO TG 1o
s A 10,000 51 HH 4O AFH YT
EIE 6 IF HE 2 TR F{R WA S,
T4 IF S PO [=® A T 18, 000 5 |

X SF Y gDl e T et [ 31
mmzsooo%aﬂwst')ooo sl

o bl eREd A FONtS afewe =W
125*1‘1%%,@%%1&@?«#1%‘@:’3#
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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following‘ questions : 1x7=7
were fir eppTges Ted ficl -
(a) Define national income.

B ST e Wl |

(b) What is effective demand?
Sy ot 2

(c) Mention one factor which affects the
propensity to consume.

TSIl ATOe AN (AR 9Bl S SaY
sl

(d) Mention one motive behind the demand
for money.

@ bifen P Sfeam qor Seay 4 |
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(2)

What is economic welfare?
szt e 2

() State investment multiplier.
s g9 IS I |

(g) Define cost-push inflation.

T TS JEFRITOS TR {7 |

2. Answer the following questions :

were fran epTyRs Tes i ¢
(a) How is net national income calculated?

% BT S FCACE 519 I ?

(b) Mention two limitations of the classical
theory of interest.

SR SRENT® ©GCOE Y01 HCTRIR SCas 1 |

(¢ What is meant by consumption
function?

Teicorsl Fers Jferee [ g 2
(d) State Say’s law of markets.
(®’F I=[ [REE e F90 1

(e)

2%x4=8

3. Answer any three of the following questions :

ot {7 2T i o R e o :

(@) Is national income a good measure of
€economic welfare? Give reasons.

SO SR SAfes g @Bl e ARNET

2 ? FRY iz Tex fum |
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(4)

Explain the classical t

employment.

A
-




